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If you miss a question, mark the correct answer. Add the total points (at 1 each) and write it clearly in the blank for Total Points.
	1.
	Nonimportation or the boycott was an effective strategy for the colonists in their struggles with Britain because, during the eighteenth century, British parliamentary leaders were politically dependent on:

a. The great leaders of the Anglican Church

*b. The great merchants of England

c. The imperial bureaucracy

d. The monarchy



	2.
	This law created a widespread, anti-British political movement in the colonies (including a colonial congress). It required a fee for documents ranging from newspapers to legal papers. With legal papers for property, failure to have the seal on the document meant confiscation of the property. This law was:

a. Quartering Act of 1765   *b. Stamp Act of 1765   c. Staple Act of 1663   c. Sugar Act (or Molasses Act) of 1764



	3.
	At the START of the Revolution, the Americans possessed these military advantages:

a. A military alliance with France  b. Superior firepower   c. A larger army  d. All of the above   *e. None of the above


	4.
	In the American south, the Battle of Yorktown:

a. Involved the French fleet

b. Combined the French army and American army

c. Resulted in the Patriots' successful end of the war for independence

*d. All of the above


	5.
	The Treaty of Paris of 1783:

a. Established the American border at the Appalachian Mountains

b. Guaranteed that Loyalists would be compensated for their lands

c. Did not provide a favorable conclusion to the war

*d. Allowed Americans the opportunity for an independent nation
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If you miss a question, mark the correct answer. Add the total points (at 1 each) and write it clearly in the blank for Total Points.

	1.
	These two British laws revealed Britain’s initial shift from Navigation Acts to regulate trade (a mercantilist principle) to laws to raise revenue:

a. Coercive Acts (or Intolerable Acts) and Quebec Act

b. Stamp Act and Declaratory Act

*c. Stamp Act  and Sugar Act (or Molasses Act)                                                      

d. Townshend Duties (or Townshend Revenue Acts) and Tea Act                         



	2.
	The Stamp Act of 1765 required a fee for documents ranging from newspapers to legal papers. With legal papers for property, failure to have the seal on the document meant confiscation of the property. This law affected:

a. Only businessmen and merchants

b. Only those who engaged in direct trade with Great Britain

*c. Ordinary people, as well as those of the elite
d. Primarily colonial manufacturers



	3.
	At the START of the Revolution, the British had all the following advantages over the Americans EXCEPT:

a. The greatest navy in the world

b. The best equipped army in the world

*c. Positive international relationships with the other powers at that time


	4.
	The American victory that brought about the French alliance occurred at

*a. Saratoga   b. Yorktown   c. Breed's Hill   d. Trenton


	5.
	The terms of the Treaty of Paris of 1783 did NOT include:

a. Britain formally recognized American independence.

b. The Articles of Confederation Congress agreed to recommend to the states that they restore Loyalists' rights and property.

*c. Britain recognized American territory from Canada to Florida and from the Atlantic to the Appalachian Mountains.
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